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BHRILE REAH

220

Bk 1

bl #ZPOOS AT AE

Frok e ArEE AT 2 AP ArE4 ATEES AT 1y BIR
] RER 83 83 84 85 92 85 85.33 2
2 CUSES 81 82 80 82 82 82 81.5 4
3 A== 86 86 85 84 94 90 87.5 1
4 BRE G 82 85 83 83 90 88 85.16 3

5IR 2

7 #EPOTE/N—F4R4E

FFak% s AP | AT 2 ATERS AP ATERO ATERS S B
1 T 83 84 86 84 88 85 85 2
2 BIRE 80 82 80 81 83 80 81 5
3 BRIRTRE 85 83 84 85 85 86 84.66 3
4 HKER 83 85 84 83 88 88 85.16 1
5 BETE 81 83 83 83 86 87 83.83 4
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Wl #EPO2BI/ N 4R

Frik "= ArEE AT 2 AP ArE4 ATEES AT 1y BIR
] BEfR 84 88 85 84 86 88 85.83 3
2 wEEF 83 85 84 84 85 85 84.33 4
3 EHEET 82 82 83 85 86 87 84.16 5
4 MEZE 82 82 84 86 87 82 83.83
5 EA 86 85 85 87 92 89 87.33 1
6 GBI 80 82 81 83 84 87 82.83
7 wgth 85 86 84 88 90 89 87 2
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IR 4

Wl 6= PO3E /N =4k 4H

Frok e ArEE AT 2 AP ArE4 ATEES AT 1y BIR
] BRR 85 88 86 87 88 87 86.83 ]
2 NELE 86 84 87 88 90 83 86.33 3
3 ST T 84.5 85 88 86 91 85 86.58 2
4 =N X 84 86 84 87 90 86 86.16 4
5 LEMm 81 83 82 84 85 80 82.5 5

2N 5

2Nl #ZPOAR /N 4R 4E

Frik e ArEE AT EE2 ArER3 ArE4 APEES AT 1y FIR
] LIRS 92 90 88 92 94 92 91.33 1
2 MAEGE 82 84 83 84 88 85 84.33 2
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Wl #HZPOSE /N L FF 4R 4H

Frok e ArEE AT 2 AP ArE4 ATEES AT 1y BIR
] =RE 86 85 83 86 86 87 85.5 2
2 HHMIZE 85 84 86 87 88 85 85.83 1
3 MILGT 81 82 82 82 84 83 82.33 3

122 /N /

4 Al #HZEPOS /N7 FF 4R AH

Frok e ArEE AT EE2 AP ArE4 APEES AT 1y FIR
] £HE 86 80 82 83 85 82 83 4
2 A 85 84 80 84 83 80 82.66
3 MRAEERE 84 83 82 85 84 83 83.5 3
4 KEFN 81 81 80 83 80 82 81.16
5 L EIE 84 82 82 84 82 83 82.83 5
6 IRT B 88 88 88 88 90 88 88.33 1
7 FRGE 4w 81 86 84 84 83 86 84 2
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A5 $EEPO7E 4B
RS % % Sl | EE2 | @mS | Wm4 | WmS | S 1 2R
| i e
2 Mgk 84 86 84 86 85 85 85 4
3 = HG 91 89 91 89 90 90 90 1
4 MEREE 81 80 80 83 81 80 80.83
5 Mt e
6 7]‘%?% 82 82 82 83 82 82 82.16
7 W= 89 88 88 88 88 88 88.16
8 E‘F%im 83 84 85 83 83 85 83.83
9 B DI 81 85 82 85 82 84 83.16
10 B E 80 78 80 83 80 82 80.5
11 EFIR 90 87 86 87 87 87 87.33 3
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485 $HZEPO8E 4l

FFo% e AP RPER2 RT3 AP APEES APERS 1 B
1 MRE 84 84 84 86 85 85 84.66 1
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Wl #EPO9iL&4H

FF 5% e AP RPER2 RT3 RPER4 APEES RPES 1 BIR
1 fEThRS 87 85 85 87 86 88 86.33 1
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E] /NRE V002 AIAE
Fr ik "2 AP ArEE2 AP ArE4 ATEES 1 HIR
1 SR E 87 86 86 82 90 86.2 2
2 RTFIE 86 87 84 85 87 85.8 3
3 st & 86 88 85 87 89 87 1
ZIR
Wl INRE VO B/N—F4%AE
Frok e PR | AT 2R 2 RATERS AP RPEEO S EZ/N
1 RAEA 84 83 80 80 85 82.4
2 WRA 85 85 82 82 86 84 5
3 FREZE 86 86 83 84 85 84.8
4 EJIENE 85 83 82 82 86 83.6
5 FRIRTE 88 90 88 87 89 88.4 1
6 R vE 85 84 82 82 85 83.6
/7 ERIRZ 88 89 86 86 88 87.4
8 g2 85 85 84 87 86 85.4
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E] INREV O2 /N _F 44

Fr ik "2 AP ArEE2 AP ArE4 ATEES 1 HIR
1 BRI 85 85 84 85 87 85.2
2 ME= 88 86 85 87 90 87.2
3 ZER 86 88 87 88 89 87.6
4 Mimga 87 85 85 86 88 86.2 4
5 MZx 86 86 84 83 87 85.2
6 ZF 87 85 85 86 87 86
7 YR 86 86 85 86 88 86.2 4
8 EHEE 89 88 88 85 90 88 1
9 £aE 85 85 83 83 85 84.2
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z0sll NNV O3B/N=F4%AE

Fr ik "2 AP ArEE2 AP ArE4 ATEES 1 HIR
1 MHEZL 85 84 86 86 87 85.6 2
2 MRF 83 82 83 80 85 82.6
3 N 87 88 87 88 86 87.2 1
4 =i 85 83 84 83 84 83.8 5
5 EXE 84 82 82 82 82 82.4
6 ME=E 86 85 83 86 83 84.6
7 =R 85 84 84 83 86 84.4
8 maEE 84 83 82 82 82 82.6
9 MK IF 83 83 80 83 80 81.8
10 Bk 83 84 83 83 81 82.8
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ZR 15
#H Al /NMREV O04B/NUF4R4H
5% e e arEE2 ArEE3 L4 FEES 1) /N
1 REE 85 82 82 84 83 83.2

2 Ba R 82 81 80 80 80 80.6

3 HERH 86 85 83 87 84 85

4 5K

5 RuPE 86 85 84 85 87 85.4

6 FYE 88 90 87 88 87 88 3
7 M-S 89 95 90 90 89 90.6 1
8 = 87 83 84 82 84 84

9 ® F 90 89 88 87 89 88.6 2
10 KIEE 86 87 85 84 86 85.6

11 2SR5 84 83 81 82 81 82.2

12 REZ 85 83 83 83 82 83.2

13 MZEF 86 84 86 86 88 86 4
14 HIrE 83 81 82 81 81 81.6

15 FER 2= 7% 86 86 86 84 87 85.8 5
16 BREBA 86 87 85 84 86 85.6
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a5 /NRE V07 B A

B Y% mE) | mm2 | wEs | wm4 | wES | I 2R
1 MK Y 86 86 84 86 86 85.6 3
2 BREHE 85 85 83 82 85 84 5
3 £RE 84 83 82 83 85 83.4
4 HFE 81 81 81 82 80 81
5 BI515 85 86 85 85 87 85.6 3
6 = 7] 15 88 90 88 88 88 88.4 ]
7 MR 85 82 83 84 84 83.6
8 BE= 83 85 83 84 84 83.8
9 BE 84 84 83 84 84 83.8
10 PR BT 83 86 83 83 85 84 5
11 2T 82 83 84 84 84 83.4
12 = IE 87 88 86 88 87 87.2 2




01422 REFLELILE REL T
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A 7 /INRE V085 4

Fri e e arEE2 ArEE3 L4 FEES 1) ZIR
1 EHzAE 81 82 82 80 82 81.4 2
2 BRE 86 85 85 85 85 85.2 1

12N 18

#H51 INREE V09t E4H

Frak %4 | ArEE2 ArEE3 L4 RS 1) 2R
1 2RI IE 87 86 85 87 88 86.6 1
2 EIPNER 85 82 80 80 80 81.4 2
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z0sll NNEE VOSB/NAFARAE

Fr ik "2 AP ArEE2 AP ArE4 ATEES S
1 = B 83.5 87.5 80 82 85.5 83.7
2 2 B 81 86 81 83 83.8 82.96
3 TR 85.5 88.5 82 85 85.8 85.36
4 FIEZE 84 90 81 86 86.7 85.54
5 ZFE R 86.5 88 83 87 87.3 86.36
6 BohiE 82 86 81 80 84.2 82.64
7 TEE 85 89 82 84.5 83.9 84.88
8 BEE 84.5 90 83 84 84.5 85.2
9 R S 86 86 84 85.5 84.3 85.16
10 B )55 86 89.5 85 86.5 86.5 86.7
11 Rt | 80 84 82 81 83.3 82.06
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z0sll /INRE V06BN F AR AR

Fr ik "2 AP ArEE2 AP ArE4 ATEES 1 HIR
1 EARIORN 85 92 87 85 85.2 86.84
2 RER 87 94 83 86 87.2 87.44 5
3 CIEEY 83 87 85 83 83.5 84.3
4 EIR 82 85 82 82 83.6 82.92
5 EEX 88.5 95 88 88 87.8 89.46 2
6 i 81 86 82 80 84.2 82.64
7 B 86.5 92 85 87 87.9 87.68
8 B 88 93 88 84 86.3 87.86
9 RIEER 88.5 96 90 90 88.2 90.54 1
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SERILE AR

j= e 2]
ZH A =NEEHOT R/ NH
ik i rzE] rzE2 r3E3 rzE4 B2 218 Zx
WA BB
] poE Al ss 90 85 87 84.3 86.26 2
=I5 SRS
2 |HERERL 83 88 84 83 82.8 84.16 3
3 FEE ML g9 93 87 88 86.7 88.54 ]
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Wl FIREFAOT B/ N—F4R4E

Fr ik "2 AP ArEE2 AP ArE4 ATEES 1 HIR
1 2SS S 87 86 85 88 86.8 86.56 2
2 ZHEHE 89 88 86 89 88.6 88.12 1

IR 23

EWl FIREFAO2E/N_F4R4E

Frok e AP | AP AP ArEa ATEES 1y HIR
1 & R 85.5 87 85 85 86.7 85.84 1
2 ERmLT 83 84 84 82 84.5 83.5 5
3 T & 85 82 84 86 86.9 84.78 2
4 FRIE 84.8 83 85 84.5 86.5 84.76 3
5 BRE& 85 83 84 84 85.6 84.32 4
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5K 24
A5 iR 2 A03E /N = 44
ot % Sl | w2 | ms | 4 | S 1 2%
1 FFIE 83.5 85 85 83 85.2 84.34 3
2 FE=* 83.5 83 84 82 84.2 83.34
3 HiER 84 82 84 84 85.3 83.86
4 B 5 1S 84.5 84 87 85 85.6 85.22 2
5 E=1-)) 87.5 90 89 88 86.5 88.2 1
6 =ARE 84.5 82 85 83.5 84.6 83.92 4
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FEE AR R

5K 25

7 32 52 AOAE/IN U 404

ot % Sl | w2 | ms | 4 | S 1 2%
1 S TR 85.8 84 86 84 85 84.96 2
2 = i 85.3 85 85 85 86.5 85.36 1
3 o R 7% 84.8 84 85 84.5 85.5 84.76
4 Bk A 83 82 84 82 83 82.8

150N 26

AR 32 52 AOSE/IN FL 4404

ot % Sl | 2 | @3 | Sm4 | S e 2R
1 TEX 88 87 86 88 87 87.2 1
2 ZETKIE 84.5 83 85 84.5 86 84.6 3
3 FREn 15 82.5 82 84 82 83 82.7 4
4 R s ZE 83.2 84 85 86.5 85 84.74 2
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z0sll IR EAOCSB/NAFARAE

Frii% et AP AT ArEE3 ArEd ArEEO 15 “ZN
1 RE=E 82.2 84 82 82.5 83 82.74 1
2 BRIZE 2
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AzWsll FREAC7 R H4E

Froi% H# AP ATEE2 ArEE3 ArzEd RrEEO 13 BIR
1 H1E 5 87.8 86 85 85 86.5 86.06 3
2 2 FE 87.2 85 84 84 85 85.04 4
3 FEZ 84.3 84 82 84.5 85 83.96 S
4 ME Iz 88.2 87 87 87 87.5 87.34 1
5 EZF 86 88 85 86 87.5 86.5 2
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bl FIREA08S 4

Fr 5% et AP ArEE2 ArEE3 ArzEd RrEES 15 BIR
1 AT 87 85 86 87 86 86.2 1
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DN 30

4 A Rz ECOO2# AT

Fri o H Aregl FPER2 APEE3 AP AEEES 1 IR
1 BRE 88 85 82 85 86 85.2 1
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2zl RNIRECOVB/N—F4K4E

Fr 3% o H PRl FrEE2 P83 FrER4 AEERS 1 ZR
1 B 88.5 85 85 84 87.1 85.92 3
2 A 89 87 86 85 87.5 86.9 1
3 BT E 89.2 86 84 84.5 87 86.14 2
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BZIR 32
A5 K2 2ECO2E /N~ F 44
ot % sl | sEmR2 | sl | wmm4 | S e 2R
1 =R 85.2 83 84 83 86 84.24 3
2 S 84.8 84 82 82 85 83.56 4
3 B 2 (H 88.6 86 85 84 86.5 86.02 1
4 Z=iIs 86 85 84 82.5 85.5 84.6 2
5K 33
A5 42 5ECO3E/ N = F 44
ot % sl | osEmm2 | sl | wmm4 | mmS 1 2R
1 =G BT 84.5 83 82 83.2 84.5 83.44
2 = AR 88.5 87 86 87 88 87.3 1
3 HEED 85.2 82 83 84 82.5 83.34
4 MERF 85.5 81 82 84.5 84 83.4
S STHRREY 89.2 86 85 86.5 87.7 86.88
6 ETE 84.8 83.5 84 83.5 83.2 83.8
7 2R R 85.7 84 84 84.2 85.5 84.68
8 EEE 84.6 82 83 83 82 82.92
9 RIS 84.7 83 84 83.8 83 83.7 5
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Bk 34

#H Al AirECO4E/NUF4R4H

Fr %4 2 rEl ArER2 ArEE3 ArER4 AEERS 1 =N
1 B & 85.2 83 83 82 85 83.64
2 MAEGE 88.6 86 87 87.5 87.8 87.38 3
3 2R 1B 25 87.3 85 85 85.5 86 85.76 4
4 IR 88.5 87 88 87 86.5 87.4 2
5 HER 86.7 84 83 83 84 84.14 5
6 EAEYE 89 88 89 86 86.7 87.74 1
7 SRIGERE 85.8 83.5 83 82.5 84 83.76
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Al AIRECOSE/NAEFARAE

Frai% HH Bl AEEE2 ArEE3 arEd AEERS 1 <N
1 JE) I 454 £
2 B 5 87.8 85 86 86 85 85.96 1
3 S2EH 85 83 83 83 83.5 83.5 4
4 RG22 85.3 84 83 84 83 83.86 2
5 PR 2= A 84.5 83.5 84 82.5 84.2 83.74 3
6 EHE 84 82 83 82 82 82.6 5
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122 /N 36

a5 KR COS B/ A

B Y% mE) | mm2 | wEs | wm4 | wES | I 2R
1 vy ScAfil 85.8 86 85 83.5 82 84.46 1
2 BER 84 84 83 83 80.5 82.9 2

%X 37

@5 KIRECO7E iR

Pt Y% FE) | mE2 | 9Es | wm4 | mmS | 9y £
1 Z IR 84.5 83 83 83 82 83.1
2 HEG 85.2 84 84 84 84 84.24
3 BT 85.3 85 85 85 84 84.86 5
4 SR 87.8 86 84 86.5 86 86.06 3
5 R 80 82 82 80 80 80.8
é [V 86.5 84.5 85 84.5 85 85.1 4
7 FEE) 88 87 87 87 86.2 87.04 1
8 51 56 [ 86.8 86.5 85 86 86.8 86.22 2
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IR 38

@3l 1% A IR S BOSE/ N = 454

Pt 4 mEl | mE | 9B | mm4 | gms | T 25
1 T 88 86 85 85 86 86 1

B 39

@3l 15 AR S BOAE/ NI 4

Pt 4 mEl | mE | 9B | mm4 | wms | T 2R
1 R 86 86 85 84 85 85.2 2
2 EAEN 88 88 87 86 88 87.4 1

ZR 40

@5 15 K 1R 5EBOSE/N B 4 43

PPt % mE | wE2 | @Ems | wm4 | wms | P £
1 BR = & 86 85 84 84 85 84.8 1




